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= 14,585,700
= 19,136,262
DEFEA JIgtxY 3,813,279 2,300,637 1,512,642
1821 USH =& 301,600 568,000 A266,400
201 Le+2ZH| 16,600 18,000 A1,400
01 AtR2teld] 12,600 14,000 A1,400
Oo=g=+d¢ 4,500
OelsA & &8 N 8,100
03 A2 EH] 4,000 4,000 0
OLNER=J1g 2USH =04 4,000
301 LEt2a=s 285,000 550,000 A265,000
12 JIet24= 285,000 550,000 A265,000
OLNER=J1g 2USH F& 285,000
2AeIEE € FAAS DEXH 1,005,000 1,005,000 0
201 B2l 5,000 5,000 0
03 HAr2EHI 5,000 5,000 0
Ogiiel&E |3& A 5,000
308 AXIHHMSOIA 1,000,000 1,000,000 0
10 S 2SS0 tEE & & 2AE A 1,000,000 1,000,000 0
OX& &Y E& syl XA 1,000,000
HY BRI ALY X (SHEEXH) 1,200,000 0 1,200,000
308 XXIEHHISOIH 1,200,000 0 1,200,000
10 I 2 S0IUEE & E AEAIE] 1,200,000 0 1,200,000
Ox=¢Eg AL HHY X 1,200,000
M=etetsl oiE 2 XA 150,000 150,000 0
308 KXIEHHISOIH 150,000 150,000 0
01 XX SHHBLELES 150,000 150,000 0
OASE et Hx & X 150,000
ZH4EE 2AeIESEHH 29 486,200 247,351 238,849
101 21244 251,140 207,031 44,109
04 D122 EE = 251,140 207,031 44,109
@eikal:] 251,140
ollE2=(7y) 200,834
o=rd 10,250
0HEFIHI 2,800
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. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 01l ko HnS2
= 508, 800
10 B 2SUHE B AEAS A 828,000 0 828,000
O 28 S2aXel A 828,000
= 319,200
= 508,800
2LE =gl AR(XIR) 4,192,350 0 4,192,350
= 2,625,000
= 1,567,350
308 XXISHRISOIH 4,192,350 0 4,192,350
= 2,625,000
= 1,567,350
01 MXSABAEES 4,192,350 0 4,192,350
OZLE =gl A 4,192,350
= 2,625,000
= 1,567,350
HE ZCER HANY AR(DT) 70,200 0 70,200
= 13,500
< 56,700
308 XHXISHRISOIH 70,200 0 70,200
= 13,500
< 56,700
10 B 2SUHE B AEAS A 70,200 0 70,200
OFE TCE FANY A 70,200
= 13,500
< 56,700
AHMA B LEX2| TS A 785,400 0 785,400
= 630,000
< 155,400
308 XHXISHHISOIR 785,400 0 785,400
= 630,000
= 155,400
01 AXSABAEES 785,400 0 785,400
ONRFIAl BE LET2| T2A 29 785,400
=2 630,000
= 155,400
D& CHOICAEH BAARL| A 504,900 0 504,900
= 405,000
< 99,900
308 XXISHHISOIH 504,900 0 504,900
= 405,000
< 99,900
01 AXSABHEES 504,900 0 504,900
ODE CHOI-AE HEATIRIAY 2 504,900
= 405,000
< 99,900
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ONSAIZ TXB0K MHE X2 200,000
NERCEETIE 250,000 500,000 250,000
403 TXIHHSXH=0IE 250,000 500,000 250,000
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S A

%:IX.”X‘IJ‘EHW}

M ANGTH SESHAY - SAIY/4 - SAIIH et
ool MET0MY SA (el &e)
S - - SRIEH) - MIRAR - BaS e e HImE2

03 AIZF=AIHI Y| 1,700 1,500 200
O30sddUe 2= 1,700

HENUR 22 XA (&Y - SAIG/UEHTL 200 ) 15,271,780 3,494,394 1,777,386
= 11,753,700
7l 1,433,700
< 2,084,380

I Al AHd 2t 15,271,780 3,494,3%4 1,777,386
= 11,753,700
Il 1,433,700
s 2,084,380

MNBIE JtAAIE JHA 4,312,000 1,130,194 3,181,806
= 4,312,000

403 AXIEHHSAH=Z01E 4,312,000 1,130,194 3,181,806
= 4,312,000

01 TtXIEHMIR=E = 4,312,000 1,130,194 3,181,806
ONBIE JIAAIE JHe 4,312,000
= 4,312,000

s0iE DISe9 XN (LPG A MEYT 25) 300,000 300,000 0
= 300,000

403 XXM SAH=0IE 300,000 300,000 0
= 300,000

01 XM A=E & 300,000 300,000 0
OLPG ASXNEHT 25 300,000
= 300,000

FAE OILAI=X 1,433,700 1,610,200 176,500
Il 1,433,700

403 A XIEHHSAH=0IE 1,433,700 1,610,200 176,500
Il 1,433,700

01 MHRIHHMA=ZE X 1,433,700 1,610,200 176,500
ONESSSAAIY 1,433,700
Il 1,433,700

ANEEZAG (XILOE X Ze) 590,000 454,000 136,000
= 590,000

403 AXIEHHSAH=Z01E 590,000 454,000 136,000
= 590,000

AR EH A =2 & 590,000 454,000 136,000
OXEUHHRX =eF ALS 590,000
= 590,000

LPIIAAIE QHEXIZO0] AH 1,048,080 0 1,048,080
= 548,800
S 499,280

308 AAIHHMSOIA 1,048,080 0 1,048,080
= 548,800
[ 499,280
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S A

IS ESEE

A FHUK 23 (&Y - S20/2/0UXILT2HL)
Sol: oILX xR e (cHol: 121
. Az =
A - ZH - SRA(ZH) - MFAY - BES o 01l ko HwWES2
01 RXISHHIZAEES 1,048,080 0 1,048,080
OLPIFAAIE OHEXIZI0I AHY 1,048,080
=2 548,800
= 499,280
TEH LPG I XIRAY 7,285,000 0 7,286,000
= 5,962,000
= 1,324,000
403 TXISHHISXH=20I & 7,286,000 0 7,286,000
=2 5,962,000
= 1,324,000
01 RXSHMAEEE 7,285,000 0 7,286,000
OREH2| LPG BH2HY RIRIALY 7,286,000
= 5,962,000
= 1,324,000
NETEPNIBIIEE= 102,000 0 102,000
= 40,900
< 61,100
201 LBre| 2,000 0 2,000
= 900
3 1,100
01 AF=2r2lt] 2,000 0 2,000
L EmEE] 2,000
= 900
= 1,100
207 17| 100,000 0 100,000
= 40,000
< 60,000
01 i8] 100,000 0 100,000
ORlBXt ZALE XSoHXHE +8 S 100,000
=2 40,000
= 60,000
S| SMRISER X N 200,000 0 200,000
403 RHXISHRISXH20I & 200,000 0 200,000
01 RXSHMAEEE 200,000 0 200,000
0227 SMHSHR &x X2 200,000
AHSAALI(JRI D) (JIEHIIEN 76,162 71,193 4,969
SRR 33,930 31,393 2,537
olzeg| 33,930 31,393 2,537
101 @124t 33,930 31,393 2,537
03 RIHA2 2N+ 33,930 31,393 2,537
Otz 2 33,930
0ll=3 2,167, 7508+ 1221 26,013
0UBEHSE 440
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S MY
M AY2SIHI(IHMEHL)(OIEHIIE)
291 an=gl (Sr9): &)
S - - SRIEH) - MIRAR - BaS e e HImE2
o xt==g 1,158
XA 1,680
0HE RO 2,168
0BEE =S 2 471
J1I=23H 42,232 39,800 2,432
Jl=&H 42,232 39,800 2,432
201 ZetE2gy| 30,777 28,139 2,638
01 At=2teld 26,658 24,020 2,638
Oget+SH| 6,300
O=etl 20,358
02 38244 4,119 4,119 0
Os32= € MA 4,119
202 04l 7,255 8,061 2806
01 2] 7,255 8,061 A806
A e = 7,255
203 gF=2&| 4,200 3,600 600
04 FAEIHRFAI 4,200 3,600 600
SEAE2ILRFA| 4,200
HPE=s(ZHE D) (MY - SAI1/0HXI LX) 17,946,000 19,089,000 21,143,000
LIS HeHXI= 17,946,000 19,089,000 A1,143,000
SETEXNSRNZAILHEESH &= 17,946,000 19,089,000 21,143,000
701 JIEtel HSEES 17,946,000 19,089,000 21,143,000
01 JIEIRIHE ES 17,946,000 19,089,000 21,143,000
OSENAXNATHEANLHNSERH H&E= 17,946,000
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A 2HSAD
Ha: £20(8 SHO(AY - BA)|Y/RHUSTRR)
ol FAIAY B4 (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 01l ko HwWE2
2HSAD 15,136,079 14,068,536 1,077,543
2 1,250,000
= 13,886,079
220|8h HOI(MQ - BA|/PAUETIKT) 15,086,007 14,014,559 1,071,538
= 1,250,000
= 13,836,007
HAIAIY S4 7,166,265 7,243,305 ATT,040
2 450,000
= 6,716,265
K AOBHE X2 (2UHFAIE) 1,283,000 1,283,000 0
2 450,000
= 833,000
308 XHXIEHHISOIH 1,283,000 1,283,000 0
2 450,000
= 833,000
07 MRS 1,283,000 1,283,000 0
OXIHADIHEY X (BUHFAIS) 1,283,000
2 450,000
= 833,000
=x=4 HNE XY 500,000 500,000 0
308 XHXIEHHISOIH 500,000 500,000 0
07 MR SANELD 500,000 500,000 0
OZHIH ®AE X 500,000
AAAAUANE 2 5,100,000 5,149,455 49,455
308 XHXISHHISOIH 5,100,000 5,149,455 ~49,455
07 AXI SIS E2 5,100,000 5, 149,455 A49, 455
OBRAAHLME 2 5,100,000
HAANAME LT BY 260,000 130,000 130,000
308 XHXISHHISOIF 260,000 30,000 130,000
07 AXI SR E2 260,000 30,000 130,000
OZRANMME A& BHLHY 260,000
HAINY S48 283 23,265 25,850 ~2,585
201 LEr2| 9,765 10,850 A1,085
01 AR 22l 9,765 10,850 A1,085
OYBrgH| 5,265
o= 1,260
O2Y+g 3,240
202 01t 4,500 5,000 500
01 =UH0id| 4,500 5,000 500
OFAGRET 4,500
203 27| 9,000 10,000 A1,000
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=MSa
=EI|8 S (MY - SAD|Y/RALEXRI)
HAIAR S (=I5
S - - SRIEH) - MIRAR - BaS e e HImE2
03 AIZF=AIHI Y| 9,000 10,000 A1,000
O&AlMY 243 =8 3,000
Ottt & el Al i 6,000
Sy At 4,464,825 3,424,470 1,040,355
2200l X2 1,082,020 1,082,020 0
202 04l 1,082,020 1,082,020 0
03 =208l 602,550 602,550 0
OdiAAZINHES 175,000
OlAEXN=X &S 256,550
O=Hus & 32 171,000
04 =HI2t0iH] 479,470 479,470 0
O=ZAZ2E HA=SE 211,970
OSYREX =& =2 138,500
OX AL A 129,000
FTA 2EXA(RMHEXL) 150,000 150,000 0
307 glztold 150,000 150,000 0
02 B AANEE L 150,000 150,000 0
OFTA E2EXIZ AL 150,000
DIMRIRRAEXS X (20T XIRZ) 830,000 0 830,000
308 AXIEHISOIE 830,000 0 830,000
1 JIEIRE= 830,000 0 830,000
ONMARR SRS SHAlXI2dE = 830,000
oH2Se ZHH A3 1,357,000 1,357,000 0
301 L2 57,000 57,000 0
07 2P =0 50,000 50,000 0
OdiSaitz2dt =8 A3E 50,000
09 eALAlBI24ai= 7,000 7,000 0
Odielsaizat 5243 7,000
307 izl 1,300,000 1,300,000 0
05 eIZt?IE= 1,300,000 1,300,000 0
OdliInRL 2E 1,300,000
FE&E H2IHH 370,000 330,000 40,000
307 212401 370,000 330,000 40,000
05 BIZtRIE= 370,000 330,000 40,000
OZg Stt=2ga asEd N2 30,000
OBYEE sgats(ezegs) 2¢ 340,000
Jg==ESE M 646,000 472,000 174,000
307 DIZHO| A 646,000 472,000 174,000
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M SHS&W
BH: 22|60 S (MY - FATIY/DAYETST)
ool Saolzr A (ol @)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
05 RIZIRIES 646,000 472,000 174,000
OU=sSAIIY =88 M 96,000
OsAJIg =888z XA 500,000
Ofgolaad 40,000
OS99 & & M Y A SHOIA Al4
SHA} 10,000
saAZst 233 29,805 33,450 A3,645
201 LBrH2H| 16,605 18,450 A1,845
01 At22teldl 16,605 18,450 A1,845
Ogt=2H| 6,300
O=&t| 2,205
Oo2g= 8,100
202 441 7,200 8,000 A800
01 =W 7,200 8,000 A800
O=NS4 7,200
203 R=&H| 6,000 7,000 A1,000
03 A F=ES 6,000 7,000 A1,000
OZHSat 6,000
o2l UWERZA 2= 413,967 489,084 ANT75,117
MHelwol XI& 119,000 124,000 A5,000
201 LBH23| 85,000 80,000 5,000
03 HArZ I 85,000 80,000 5,000
OMLEDIg| SEART SHHMA} 85,000
308 AXISHXSOIA 24,000 24,000 0
10 S| 2SO A EAEAIE ] 24,000 24,000 0
OMAueXS =23 MEHS 24,000
310 =22/01H 10,000 20,000 10,000
01 2AB&0l1A 10,000 20,000 10,000
OMAu2l 2AHACK WUl S X 10,000
SHRIKFXIEHAMIZE S M= 163,000 157,000 6,000
201 Ler2Z | 15,000 9,000 6,000
03 A2 ZH| 15,000 9,000 6,000
O AXRXI M SHwFHA =& 15,000
301 LBIEAZ 135,000 132,000 3,000
06 212122/ 04| 39,000 39,000 0
O=Hus &It 2IZtel o] XI& 39,000
07 28I =HNY| 73,000 73,000 0
OZMuF AeI=HNWLl X 73,000
09 SAIAHIEAS 23,000 20,000 3,000
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2A =HSa
HE: 2|0 (MY - BA)Y/RALENRIX
el o2l UWERA +=5 (el &=J)
S - FE - SRI(SH) - HRA - BES il ko8 Cva] HI DS
Oollel HIHEAl SR WE A= 20,000
O3=ds WFHA 3,000
310 22/01H 13,000 16,000 23,000
02 2MFE= 13,000 16,000 23,000
OMIHIXI TR SHHI A& (UCLG) A3 13,000
ODA At=& 81,007 150,684 A69,677
201 LEH2d| 18,888 35,184 216,296
01 At22teld] 6,669 9,184 A2,515
CKOICAZ S 0DAAIE =& 6,669
03 Ar2EH| 12,219 26,000 213,781
OKOICAE S ODAALE =& 12,219
203 F=&IH| 2,869 5,500 A2,631
03 AIZ=AALFAIH| 2,869 5,500 22,631
CKOICAZ = 0DAAIY =& 2,869
301 et2a=s 9,250 10,000 AT50
07 2API=H NI 9,250 10,000 AT50
CKOICAZ S 0DAAIY =& 9,250
307 SI2t0l& 50,000 100,000 250,000
05 2IZIRIE3 50,000 100,000 /50,000
OZaldT MDAMY =& 50,000
oi2l HER3 #= 2I2&H| 50,960 57,400 26,440
201 LBt2EH| 31,860 35,400 23,540
01 AtR2teld] 31,860 35,400 23,540
Oget=Zd| 6,300
O=gH] 2,880
Ogxt= 22,680
202 Oid| 8,100 9,000 A900
01 =LHOIYI 8,100 9,000 A900
OQAUIESRIR 7= F& 8,100
203 FFF&| 11,000 13,000 A2,000
03 AIZ=AARFAIH| 11,000 13,000 22,000
OollHERD 75 F& 6,000
OXXIEMZE BMuFE SR 5,000
oH2A0BHE X 2,625,140 2,338,700 286,440
P 700,000
= 1,925,140
KIS AFA0IAIE X2 (SHRADHAE) 1,400,000 1,400,000 0
= 700,000
o= 700,000
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S S
M 2E)|8 S (MY - SA|Y/RALERRI)
el ofloE K& (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
307 glztold 1,400,000 1,400,000 0
= 700,000
= 700,000
05 BIZt? &= 1,400,000 1,400,000 0
O ENEE P ETCEETRD 1,400,000
s 700,000
= 700,000
XISAAA0BAE X (KEA) 1,200,000 900,000 300,000
307 glztold 1,200,000 900,000 300,000
05 BIZt?E&= 1,200,000 900,000 300,000
OXIS &k GHA0BHIE K1 (XHAI) 1,200,000
oH2l0HE 2E3H 25,140 38,700 213,560
201 k= 10,440 21,600 211,160
01 At22|H 10,440 11,600 1,160
OgEt=EZH] 8,550
O=EHt] 1,890
202 04l 8,100 9,000 2900
01 2] 8,100 9,000 2900
Odli2liHE g2=Xx 8,100
203 BR=&H| 6,600 8,100 A1,500
03 AIZF=AIHI Y| 6,600 8,100 1,500
Odli2loHE =& 6,600
OfAIO} &k 25t 415,900 519,000 A103,100
[ 100,000
= 315,900
OtAIOH BHIgsS & wsEs XA 200,000 100,000 100,000
307 212+0] & 200,000 100,000 100,000
05 eIZt?IE = 200,000 100,000 100,000
OXIH & OFAIOHOHIE! X1 (XEAI) 200,000
OFAIOF S&dst 23] 15,900 19,000 23,100
201 fEh=2 & 4,500 5,000 A500
01 AtR22|H 4,500 5,000 A500
Ogtt+=EH 4,500
202 04l 5,400 6,000 2600
01 =LHALI 5,400 6,000 2600
OOIAIOF 1= HR=H 5,400
203 gF=& 6,000 8,000 /2,000
03 AIZRFAIHR Y| 6,000 8,000 /2,000
OOfAIOF wF SR 6,000
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S S
B £20|9 (MY - BAI|Y/RAUETIR
£l OfAIOF g A5t (el &)
S - - SRIEH) - MRA - B e e HImE2
XA &A0BHE XI& (OFAIOIOEAIE!) 200,000 200,000 0
= 100,000
= 100,000
307 glztold 200,000 200,000 0
= 100,000
[ 100,000
05 EIZt? &= 200,000 200,000 0
OXISHAH0PIE X1 (OtAIOIOHAIE) 200,000
[ 100,000
= 100,000
HY2AZHI(ZMSAD) (DI IIE 49,982 43,977 6,005
Jl=3Hl 49,982 43,977 6,005
Jl=&H 49,982 43,977 6,005
201 ZetEg| 30, 154 22,479 7,675
01 At=2teld 14,625 16,250 A1,625
Ogtt+=EH] 6,570
O=gH] 8,055
02 5= 15,529 6,229 9,300
O332= & HAl 15,529
202 Ol 15,028 16,698 1,670
01 =LHAHI 15,028 16,698 A1,670
FA SSER A 15,028
203 PR =&l 4,800 4,800 0
04 FEXEIHRFAYI 4,800 4,800 0
O=HNSat 2¢ 4,800
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SN NHZSH B
Ho: NABSH BLSHABISK/S)
eel NHZEH Il EER-5)
< _ - HNET
SN - 3 - SRA(SIH) - MRAY - BES Ol kK 01l ko HwWE2
XS 2 SH 30,199,898 26,128,297 4,071,601
= 2,465,000
= 21,065,800
= 6,669,098
XNABSH SLHAEI=X/ = S) 18,979, 145 8,694,384 10,284,761
= 2,465,000
= 11,016,000
= 5,498, 145
NEs=sH = 7,034,000 2,856,000 4,178,000
s 4,304,000
& 2,730,000
25 AISIBEN SIEE =4 3,150,000 0 3,150,000
a 2,100,000
= 1,050,000
401 AIEHIZ 2| 3,150,000 0 3,150,000
s 2,100,000
= 1,050,000
01 Al&HI 2,640,000 0 2,640,000
OZd Al BN sblEt2 =4 2,640,000
s 1,760,000
< 880,000
02 22l 375,000 0 375,000
OB AFBIEZN e £4 375,000
sy 250,000
& 125,000
03 A& 135,000 0 135,000
OZY ABIHZM SHelEte T4 135,000
s 90,000
< 45,000
ASIEZM SI2AHAHEA XA 100,000 0 100,000
201 Et2&H| 54,500 0 54,500
01 AtRZelt| 54,500 0 54,500
O2Y+e 50,000
OgptsgH| 4,500
203 F=&H| 5,500 0 5,500
03 AIBZ=RARZ=AIH| 5,500 0 5,500
OAZERIDZAIY| 5,500
308 KXISHHISOIH 40,000 0 40,000
10 S| 2 SOICHEH B A X RETAIS ] 40,000 0 40,000
OpIZIHEA 2435} T Iz 10,000
OBIZAHEA e HTX| Al 30,000
ZEARIHENSEXNZLE 2 300,000 300,000 0
308 AHXIHHMSO0I& 300,000 300,000 0
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M NESSH
M NASSH SHHARSX/ =)
el (ENARIED Y XA (el &)
. i - PSEL =
S - B CHRU(SI) - HISALY - 04l &kt Sl Ao HIDE2
= 1,301,269
AN EIFFH AFKDHEEI(EE) 262,858 211,000 51,858
= 184,000
= 78,858
201 LBEH2| 50,000 30,000 20,000
= 35,000
= 15,000
01 AtR2telt| 50,000 30,000 20,000
OAMZEDIY &2 50,000
= 35,000
< 15,000
307 QI2tol & 212,858 181,000 31,858
= 149,000
== 63,858
02 QIZHEAANSE R 212,858 181,000 31,858
OArZINEHl XISESHAtS 212,858
= 149,000
< 63,858
AN EID=FH AFKIDHEBI(XIR) 745,986 966,057 A220,071
= 661,000
= 84,986
308 AKX SO0I& 745,986 966,057 A220,071
= 661,000
< 84,986
01 IXSHHBLERZ 745,986 966,057 A220,071
OAZI DY AFIDHEEl X1 745,986
= 661,000
== 84,986
MEIFI | HSH(LRILIEE) 6,262,300 3,102,000 3,160,300
s 5,693,000
== 569,300
308 KRS0 6,262,300 3,102,000 3,160,300
s 5,693,000
= 569,300
01 AXSHBNELZ 6,262,300 3,102,000 3,160,300
OMII R |ZSH(LRI2IZEAIL) 6,262,300
s 5,693,000
= 569,300
ASIEEE XI&AAS 474,000 461,585 12,415
= 420,000
< 54,000
308 AXISHKSOIA 474,000 461,585 12,415
s 420,000
== 54,000
01 UtXIEHBAEES 474,000 461,585 12,415
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M NSBEMD
BE: NADSH BAGHAME=T/CE)
cH2l: (OB ARSIEDIR) I (Sr9): &)
. i - PSEL =
S - BB CRA(SIH) - HRAY - BES il ko8 il arou HIDS2
OAISIED IS At2IE2EE XA 474,000
P 420,000
< 54,000
MNEIED|SE AlEEHl XI&AR 100,000 100,000 0
403 XXISHMSXH=01H 100,000 100,000 0
01 IR =L 100,000 100,000 0
OAISI &1 A& &Il XIA 100,000
Y AR ZH HHARE Z2HE(XJ) 1,948,200 0 1,948,200
= 1,590,000
< 358,200
308 KXIEHHISOIH 1,948,200 0 1,948,200
2 1,590,000
= 358,200
01 IXSHBLEERSZ 1,948,200 0 1,948,200
OQIAHIXI& 1,948,200
= 1,590,000
= 358,200
dY AIEIXNZH HHRE Z2NE(FHY) 60,000 0 60,000
= 30,000
= 30,000
308 XHXISHRISOIE 60,000 0 60,000
= 30,000
< 30,000
10 S712S0IEtE & AE A 60,000 0 60,000
OiLIN 29X& 60,000
= 30,000
< 30,000
NEESPIEIEIEEY 25,905 25,100 85
201 Yur2 Y| 15,525 13,500 2,005
01 AFR2teld] 15,525 13,500 2,025
Oggt==2| 2,700
O2g+4 12,825
202 Oid| 9,000 10,000 21,000
01 =LHOiH| 9,000 0,000 A1,000
OABIEDIY N 2= 9,000
203 HRF&l 1,400 1,600 A200
03 AIMF=AHRF=LIH| 1,400 1,600 2200
OABIEDIR! MY oz 1,400
NE3sH &4 1,915,876 972,642 943,234
Fas 599,000
& 1,316,876
23S A FA 22,820 28,000 25,180
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M NASSH SHHARSX/ =)
ool NE3sH =4 (el &)
i _ _ AT
SA - B3R GRA(S) - NIRAY - B82S Ol kK 01l ko Hns2
201 Yer2g| 22,820 28,000 15,180
01 AF=2r2IHI 17,820 18,000 A180
OFD3I0IE SAI2 ZHHZE I X 17,820
03 #AF2 I 5,000 10,000 A5,000
OFZ3i0te Y3& = 5,000
HI30I2 ARIEE X 87,000 87,000 0
308 XHXIEHHISOI® 87,000 87,000 0
01 AXSHHBYEEZ 87,000 87,000 0
OFLs0I2 243t X 87,000
HLPsI0le T2 |4 121,481 176,642 A55, 161
308 XHXIEHHISOI® 121,481 176,642 A55, 161
01 AXSHHHYEEZ 121,481 176,642 NB5, 161
OXMBsI0te T2t |4 121,481
0ol S (RF) 258,000 240,000 18,000
2 129,000
= 129,000
307 QIZHOIA 258,000 240,000 18,000
2 129,000
< 129,000
02 DIRFAAIAIIE R 258,000 240,000 18,000
Oy 248 X2 A 206,000
= 103,000
= 103,000
Oor2lIy HeXg T2 52,000
2 26,000
= 26,000
IIESIEIE=VEIONED 611,000 429,000 182,000
z 470,000
= 141,000
308 XHXIEHHISOI® 611,000 429,000 182,000
= 470,000
= 141,000
01 AXESHZABEZ 611,000 429,000 182,000
OlEI1g S4AM 611,000
2 470,000
= 141,000
XNHBEX Zo 22| 15,575 12,000 3,575
201 Ler2g| 6,075 3,000 3,075
01 AF=2r2IHI 6,075 3,000 3,075
OgstrgH| 2,700
Oo2g= 3,375
202 01t 8,100 7,500 600
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S KBS
BB =M (REUT|SDIHL/ N HUE A
o9l KINH=MEA B2 (el &2
- _ _ poIE [=
SA - FB - S2(30) - MPAY - BAS Ofl by Gl aron A==l
ANGHSUEH AHEH 2,322,027 4,637,018 A2,314,991
s 2,159,500
< 162,527
403 XXM SXH=01H 2,322,027 4,637,018 N2,314,991
s 2,159,500
= 162,507
01 XM= E X 2,322,027 4,637,018 A2,314,991
OBHAQHAIAE PEA 194,575
oS Al 108,962
= 101,360
= 7,602
OHHMIAI 85,613
= 79,640
= 5,973
OBBPUICH 8T HLDHAL 295,000
OAHE Al 84,000
P 78,000
= 6,000
ogoli= 127,000
= 118,000
& 9,000
oots= 84,000
s 78,000
= 6,000
OULIARY yuAT| 25 1,090, 160
ottEZ 153, 100
P 142,400
< 10,700
0B YR 279,520
2 260,000
< 19,520
oHEZ 448,110
[ 416,800
< 31,310
&= 209,430
= 194,800
< 14,630
OADIEIISHE THHOIE HSHH 75 280,580
o2 BHAl 140,290
2 130,500
= 9,790
O2HAHA] 140,290
= 130,500
= 9,790
OAHICHT QHEAID '0" MER T4 461,712
0T A 230,856
s 214,750
= 16,106
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2M: NSSSH
M = MEI A (REUT|GIHL/ I HUT AN
CHel TIG=MEA s2iA (cro): xig)
S - - SRIEH) - MIRAR - BaS e e HImE2
O2FLEA] 230,856
a 214,750
= 16,106
FART HE(SHE) 4,838,000 7,008,000 A2,170,000
2 4,460,000
= 378,000
403 AXISHHSAH=Z0IE 4,838,000 7,008,000 22,170,000
2 4,460,000
= 378,000
01 XM= E X 4,838,000 7,008,000 22,170,000
OAEAI(SEXIF) 609,000
= 560,000
[ 49,000
Oogz(2slX=) 716,000
= 660,000
=S 56,000
OFgZ(MEXR) 936,000
= 860,000
= 76,000
OstsZ (& XI7) 1,035,000
s 960,000
T 75,000
OgdZ(2EXF) 940,000
[ 860,000
S 80,000
ONEZ(SEXF) 602,000
= 560,000
= 42,000
FHAXIT HE(SAI 3,179,000 5,405,000 22,226,000
= 2,817,000
[ 362,000
403 MR SA=01A 3,179,000 5,405,000 A2,226,000
2 2,817,000
= 362,000
01 HRIHHA=ZE X 3,179,000 5,405,000 A\2,226,000
O&FAI(BISXIF) 1,409,000
= 1,249,000
= 160,000
OSSA(SEEXF) 933,000
[ 826,000
S 107,000
OZaAl(&&E=X17) 317,000
= 281,000
= 36,000
OLSA(EEXIF) 520,000
= 461,000
[ 59,000

- 370 -




2A: NESSH Dt
B WSS (RELK AN/ AL A
CHel TIG=MEA s2iA (el &e)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
NP2 SHEEXISAIY) 470,000 60,000 410,000
= 470,000
403 AXIHMSAHE01H 470,000 60,000 410,000
sy 470,000
01 XM 2EE 470,000 60,000 410,000
OFEXSFA 470,000
oL AA[(L A0 MHS 2EI= JiE) 470,000
= 470,000
oYUM 70,000 70,000 0
308 AXISHHMSOIA 70,000 70,000 0
10 BI1 2SS A ELAE AL S Y] 70,000 70,000 0
02019 ZEleXerets| 70,000
KESEAMAZE KIRA 286,600 190,400 96,200
s 143,300
< 143,300
101 I244| 154,840 141,000 13,840
iy 77,420
< 77,420
04 JIZtHI2 2RSS E= 154,840 141,000 13,840
OPJI= =] 102,700
= 51,350
& 51,350
OAIZte| 2R+ 12,840
= 6,420
& 6,420
OEEFIMI 1,200
s 600
T 600
SRS 8,700
as 4,350
& 4,350
OISESE=) 9,400
= 4,700
& 4,700
O=UAbI 20,000
sy 10,000
== 10,000
201 B2 3| 51,760 14,900 36,860
= 25,880
T 25,880
01 At22teldl 51,760 7,000 44,760
Oget23d| 26,760
s 13,380
T 13,380
ODELEAME LR /T8 25,000
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